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5 2 4 A (HKX) Y2 2 (T %
1 BOR JE A 2k 90
2 gk JEPLHT 2L 90
3 BIE F AL [X oA 100
4 R B AEX xR 100
5 R4 R AEX x| * 3 100
6 gk B AEIX 7 * 1 100
/ ik AL X JA*C 100
8 ek AL IX S 100
9 ik A [X R 100
10 gk A [X o+ 100

11 R E R AEAE X 77 * 100
12 gk PR [X B>z 100
13 BIE P X Eali 100
14 gk R X (G 100
15 Vit ik FER A X W ox i 100
16 gk R X R* 100
17 ik P X (RS 100
18 gk AL IX H*E 100
19 ik A [X H* 100
20 gk A [X el 100
21 ik A [X 1+ 1 90
22 gk JEPLR BE* T 100
23 BIE JEPLHT BUX 100
24 gk [ B A [X 7, 100
25 IR JEDLHT TR 100
26 R Je ks JE*% 100
27 ik [ B 4 X > 100
28 ek JeDLA T * 100
29 BOR NS Frz 100
30 gk A BrR 100
31 ik 5 X B 100
32 gk + A 51 * % 100
33 IR F AL [X AAE 100
34 gk [ B A [X JE* 100
35 IR A B2 100
36 gk AT A N 100
37 HIE XA X Z* 90
38 ek HUAERE X Bl 100
39 BR XU R X Hx 2 100
40 gk XURE A X X 100
41 ik XURE A X HFxE 100
42 R E SRR X K* % 90
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100
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100
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RxE
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100

49
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Er

100
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100
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100

55

KM
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100
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100
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100

58

KEH

Wk

100

59

KM

X * 3

100

60

KEH

)’%*

100

61

KEH

ffi*

100

62

KEH

PR*

100

63

AN

=
2R

100

o4

M

5%

100

65

A

100

06

WM

wA *

90
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A

iy

100

68

AR

IL*3E

100

69

AR

A

100

/0

M

A2 *

100

/1

A R IX

E*

100

/2

A

AT

100

/3

A

| =

7T

100

/4

A

Exa

100

/5

ROk X

X|*E

100

/6

ROk X

55

100

/7

RO IX

PR

90

/8

oAk IX

+H*

90

/9

ROk X

L*

90

80

DAk X

2R

90

81

RobAk X

90

82

RobAk X

x5

90

83

g e IX

);z]*

90

84

bk X

P

90

85

ROk X

L%

90

86

ROk X

é*

100




8/ ik B X JL* 90
88 gk B AEIX R* T 90
89 R R X v iia 90

90 gk RO AE X H*= 100
91 BOE L [X B2 90

92 gk A [X KA 100
93 BOE P X EFE 90
94 R E R X AR 90

95 ik A A IX H* T 90

96 gk R X R 90
97 BIE F AL [X JA > 90
98 RS R X AR 90

9 ik AL X f* 90
100 gk A IX p* 90
101 BIR Je A K*g 90
102 BIE L Jo A JA*= 90
103 ik JEXLAT RXHE 90
104 ! JeReA F* X 90
105 BIE Jo At | % o 90
106 IR JEPLHT RS 90
107 Vit ik JEDLHT kS 90
108 TR yaadil x> 90
109 ik Je A 51 % 90
110 gk JEPA %] %A 90
111 BOR Je A = 90
112 gk JEXLH opxE 90
113 R NFIES B+ 7k 90
114 gk NV 3 90
115 BE NS BUREy 90
116 gk + A = 90
117 BIE + 74t a* 90
118 gk A A*C 90
119 R +A RS 90
120 gk A Aa* 100
121 BOR [ B4k X JA* 90
122 gk A B x5 90
123 ik +p 51 * Mg 90
124 R A = 90
125 BIE F IR JA* 90
126 gk A | <5 90
127 Vit ik A Fprde 90
128 gk AT H* T 90
129 ik XURERE X F*E 90
130 gk XURE X JE <M 90




131 Vit ik SRR X K*E 90
132 gk [ BF A [X WA 90
133 R XURE X R* 90
134 R XX 2 90
135 BOE XU R X ik 90
136 R [ B X ElR3 100
137 R SUEAL X B * 90
138 R E XUEERE X KK 90
139 R SRR X ZXE 90
140 RS AKX JE* 3 90
141 BIE K AE X R 90
142 TR FKOLHEX = 90
143 ik [ B 4 X £ 90
144 TR 4 ALK Elk 90
145 BIR AKOLREIX TL*F 90
146 HEE KL X FrrE 90
147 R R KL X e 90
148 B % L AR AE X rH 90
149 THIR TR AL X * 90
150 gk [ B A [X HE 90
151 BIE K AE X Ay 90
152 ek N L JE * ] 90
153 ik B AEIX E*E 90
154 gk RO AEX A= 90
155 BOR Rl Z* R 90
156 gk NIV PRx 90
157 ik [ BE A [X K * I 100
158 IR A A IX xR 90
159 BE +7Ht H* 90
160 L] +7ht AL 90
161 HIE SUAERE X ZErE 90
162 gk [ B A [X > Bl 90
163 HIE At xR 90
164 gk A B i 90
165 BOR [ B4k X JA* Y 90
166 gk XURE X = 90
167 R R KL X Zerdg 90
168 IR KEF PR+ 2K 90
169 R kX F7 ORI 90
170 B E L KM AEX = 90
171 Vit ik JEPLHT R* 90
172 gk N L e 90
173 R £ A Zx 90
174 HIE i B AL X W 90




175 ik PR [X Hyx g 90
176 gk AT T*W 90
177 ik LE | i 90
178 gk AL IX K> 90
179 HRE B X X * 4% 90
180 gk RO AEX 25 90
181 BOE DAL X L7 90
182 BIE F IR RN 90
183 R A EES 90
184 gk B x| * £ 90
185 HIE KEN A 90
186 TR N L AEE 90
187 ik LE | T+ 90
188 gk [ BF A [X S 90
189 BIR + A 7K * B 90
190 BE XU R X > 3 90
191 BOE N JA < E 90
192 VB VR 0] PEARE 90
193 BIE Jo At TrH 90
194 ! LR JE* = 90
195 Vit ik SRR X JA* i1 90
196 ek N L Hr= 90
197 HIE R0 - 90
198 gk SHES) b 90
199 R FEFIREX Frz 90
200 BIE Jo A *JF 90
201 BOR Rl E*% 90
202 gk FDAEX [ 90
203 Vit ik NV i 90
204 gk KEF S 90
205 R SUAERE X ikl 90
206 R [ B A (X Er A 90
207 ik E A B * 3k 90
208 R RIHEAEX M 90
209 BOR KR B* L 90
210 TR KA R 90
211 R KA N 90
212 gk KEF JEL X 100
213 BIE K 1% 90
214 gk KEF x4 90
215 BIE K x4 90
216 R KEN I 90
217 ik K Hy*4g 90
218 gk SHES) RFH 90




219 R AL X e 90
220 RS EAER JE* T 90
221 ik LE | ZrXE 90
222 gk SHES) B 90
223 BOE LE | Bx 2 90
224 R BN FErR 90
225 BOE | RS 90
226 TR R X 90
227 BIE EEail K*A 90
228 gk LR JL* R 100
229 BIE EEail Rr4T 90
230 BIE RO X x| * 90
231 ik B AEIX i 90
232 gk RO AE X 51 * 90
233 R R0 X N 90
234 gk RO AEX #Hxor 90
235 BOE B E[X x5 90
236 ! A IR 90
237 BIE EEail 2=+ AE 100
238 ! R X xR 90
239 R EAEA PR+ F 100
240 R K AE X i 90
241 R SHEYN) x5 100
242 gk SHES) FEx1 90
243 BOR [ B 4 X > 100
244 gk SHE) A2+ 5 100
245 BOR XU R X H* IR 90
246 R HEFIRE X 7 * 90
247 IR HEFI#E X 7 90
248 R SR X B * TG 90
249 BIE JEFI#E X | * 5 90
250 IR R AR X ik 90
251 R D) FErE 90
252 IR e a0) BAE 90
253 R KER AR 90
254 gk SHE) Aaxz 90
255 ik fia) BH AL X PR * 5 90
256 gk EEan] E 90
257 HIE SRl L 90
258 R K PAEIX HrAR 100
259 HIE AKX x| * & 100
260 IS KA X J A 90
261 ik JEFI#E X W& 90
262 gk AR Eill 100




263 Vit ik HE Y] gl 90
264 IR AR % 90
265 R N FIAY BRI 90
266 R SUEEAE X B * 2% 90
26/ BE L NG JE* 4% 90
268 R E KEH JE* L 90
269 R UL X L 90
270 BIE EEan] = x 90
271 BIE A FrE 90
272 R E R X x| * 37 100
273 IR MUAEREIX [l 90
274 R 171 A (X P <3 100
275 R WER BEx2 90
276 R A X 90
277 it PNID] I 90
278 BIE L R I * & 100
279 ik Kk RN 90
280 ! FEF 4 X & 90
281 Vit ik WA X = 90
282 B E MR X H*RK 90
283 Vit ik KPR X Hx 90
284 HEE RO X x| * 7 90
285 TR P A X Zx 100
286 R AR A3 90
287 ik fia) BH A [X H T 90
288 BE NIES] BRAAL 90
289 ik R4 X xR 100
290 R Rzl E*H 90
291 Vit ik AT A x 90
292 R A X LA 90
293 BIE JEFI#E X x5 90
294 R IF1 B 4 (X T*E 90
295 R FKPAEX Z*H 100
296 gk Y hagil JE > 3 100
297 R R AL 90
298 gk KM PR * 100
299 R A X %% R 90
300 BE g AEAE X A * 100
301 R SUREAE X TR 90
302 R 4 + 7kt L 90
303 BIE 7K At X i+ X 90
304 R K W*% 90
305 IR TNH ) 90
306 B E 4 SUEEAE X W* ik 100




307 R JUE Y] G > H 90
308 R BN L*E 90
309 R AL X Z* D 90
310 gk AR b3 100
311 HIE A WA X * 3 90
312 BE NG > 90
313 BOE EYD] ER 90
314 BIE BN Bx 90
315 Vit ik F AT VR~ e 90
316 gk KAt X H*F 90
317 R AKX 5 90
318 TR ff1) BH AL (X FAE 90
319 R + A A * R 90
320 gk RO IX JE X E 90
321 R DX i 100
322 gk A #Hx 90
323 ik R4 X > 90
324 JEE L g AEAE X A * 90
325 Vit ik NFIAY BRI 100
326 B E L BN AE*H% 90
327 R SRS Prr2 90
328 R A X Z* 100
329 ik + A 5% 90
330 BRE A KA w*F 90
331 R KA KX 90
332 gk DX LS 100
333 BRHA AKPLHEX w*E 90
334 R FEF#E X FHI 100
335 Vit ik A £ x5 100
336 BE BN Z* 90
337 R g A X L 90
338 R BN PERAR 90
339 TR 7k Frz 100
340 R NS IR 100
341 R 7K At X b 90
342 IR MR X o 90
343 ik BER bR 90
344 BE BN b3 90
345 R D) T 90
346 gk KP4t X WA * 90
347 Vit ik [F1) B 4 (X R*ER 90
348 IR KA L. 90
349 R EIEAT T *I 90
350 gk = AT A 100




351 B JE24hT 90
352 R MUEEHE X 90
353 HIE KX 90
354 R ROFEX 90
355 R E A 90
356 TER NG 90
357 R4 A 100
358 BIE JHE A IX 100
359 R i3 X 100
360 B A 90
361 B PNt 90
362 B AN 90
363 BOE B 90
364 R JHE A 4 X 90
365 it Je X4kt 90
366 R B 90
367 B4 L o) 90
368 B Z [F1 B 4 X 90
369 HIE B A X 90
370 VKR 4 WA X 90
371 Vit ik REA 90
372 IR A 24 X 90
373 IR 1] FE A4 X 100
374 BE B A H X 90
375 HIE A4 X 90
376 R RO X 100
377 HIE TKPEHEX 90
378 ER A B 30
379 Vit ik RO X 90
380 R KX 90
381 BIE L [X 90
382 BE T ht 100
383 BOE ) 100
384 R [ B 4 X 90
385 R AR 90
386 R RO X 90
387 B KA 90
388 R p A X 90
389 B A 90
390 R MUEERE X 90
391 B B LA 90
392 BE T ht 100
393 HIE KX 90
394 % MUEERE X 90




395 BIE BUEEAE X B 90
396 BRH KA X il 90
397 ik BUEEAE X Fx5 90
398 BE A TrE 90
399 HE A B 90
400 gk [ B A X J7x 90
401 R R KX ZxH 90
402 R E KP4t X A * 90
403 BIE RO L X o 90
404 gk A 5J5* i 90
405 BIE SE YD) e 90
406 TR MRS Bl * A 90




